LO1 Wiederholung der Grofen
Wiederholung der GroRen mit Berucksichtigung der Dezimalbruche

Zeit
1h - 60 60 min - 60 360 s
— —
: 260 —min 60
% h . a min . 1s
Gewicht
1t -1000 1000 kg  -1000 1000000g - 1000
I : 1 ¢ 1 ¢
7000000000 © - 1000 000000 K9 - 1000 o0 9 - 1000
= 0,000 000001 t =0,000 001 kg =0,001g¢
Lange
1 km 1000 1000 m 10 10000 dm -10 100000 cm -10
; — — —
L ym S1000 —— m 10 -~ dm ‘10 L oem 110
1000 000 ' 1000 ' 100 ' 10 '
= 0,000 001 km =0,001 m =0,01 dm =0,1cm

1

1 000 000 000 mg

mg

1 000 000 mm

1

mm

(CC-BY-SA-NC) getschooldigital.de

Seite 1 von 1



